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Name: __________________________________



1
On the set of axes below, the vertices of [image: image1.png]


 have coordinates [image: image2.png]


, [image: image3.png]


, and [image: image4.png]


.

[image: image5.png]



What is the area of [image: image6.png]


?

	1)
	10

	2)
	20

	3)
	25

	4)
	50



2
On the set of axes below, [image: image7.png]ABLU



 has vertices with coordinates [image: image8.png]


, [image: image9.png]L(=2,5)



, and [image: image10.png]


.

[image: image11.png]> <

> X




What is the area of [image: image12.png]ABLU



?

	1)
	11

	2)
	12.5

	3)
	14

	4)
	17.1



3
Triangle RST is graphed on the set of axes below.

[image: image13.png]



How many square units are in the area of [image: image14.png]


?

	1)
	[image: image15.png]3415





	2)
	[image: image16.png]5 415





	3)
	45

	4)
	90



4
Triangle DAN is graphed on the set of axes below.  The vertices of [image: image17.png]MNDAN



 have coordinates [image: image18.png]


, [image: image19.png]


, and [image: image20.png](=3, 10)



.

[image: image21.png]>

> X




What is the area of [image: image22.png]MNDAN



?

	1)
	60

	2)
	120

	3)
	[image: image23.png]




	4)
	[image: image24.png]






5
On the set of axes below, rectangle WIND has vertices with coordinates [image: image25.png]


, [image: image26.png]


, [image: image27.png]MN(3,—4)



, and [image: image28.png]


.

[image: image29.png]><

~—

>x




What is the area of rectangle WIND?

	1)
	17

	2)
	31

	3)
	32

	4)
	34



6
On the set of axes below, rhombus ABCD has vertices whose coordinates are [image: image30.png]


, [image: image31.png]


, [image: image32.png]


, and [image: image33.png]


.

[image: image34.png]



What is the area of rhombus ABCD?

	1)
	20

	2)
	24

	3)
	25

	4)
	48



7
The coordinates of vertices A and B of [image: image35.png]MABC



 are [image: image36.png]


 and [image: image37.png]B(3,12)



.   If the area of [image: image38.png]MABC



 is 24 square units, what could be the coordinates of point C?

	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






8
Square ABCD has vertices [image: image43.png]


, [image: image44.png]


, [image: image45.png]


, and [image: image46.png]D{-4,3)



.  What is the length of a side of the square?

	1)
	[image: image47.png]




	2)
	[image: image48.png]




	3)
	[image: image49.png]




	4)
	[image: image50.png]






9
The vertices of square RSTV have coordinates [image: image51.png]R(-1,5)



, [image: image52.png]5(=3,1)



, [image: image53.png]T(=73)



, and [image: image54.png]


.  What is the perimeter of RSTV?

	1)
	[image: image55.png]




	2)
	[image: image56.png]




	3)
	[image: image57.png]




	4)
	[image: image58.png]






10
Rhombus STAR has vertices [image: image59.png]5(-1,2)



, [image: image60.png]


, [image: image61.png]


, and [image: image62.png]


.  What is the perimeter of rhombus STAR?

	1)
	[image: image63.png]




	2)
	[image: image64.png]




	3)
	[image: image65.png]




	4)
	[image: image66.png]






11
The endpoints of one side of a regular pentagon are [image: image67.png]


 and [image: image68.png]


.  What is the perimeter of the pentagon?

	1)
	[image: image69.png]




	2)
	[image: image70.png]




	3)
	[image: image71.png]




	4)
	[image: image72.png]






12
Triangle ABC has vertices at [image: image73.png]


, [image: image74.png]


, and [image: image75.png]


.  Find the length of [image: image76.png]AC



 in simplest radical form.

13
Triangle ABC with coordinates [image: image77.png]A(=2,5)



, [image: image78.png]


, and [image: image79.png]


 is graphed on the set of axes below.

[image: image80.png]



Determine and state the area of [image: image81.png]MABC



.

14
The vertices of [image: image82.png]MABC



 have coordinates [image: image83.png]


, [image: image84.png]


, and [image: image85.png]


.  Determine and state the area of [image: image86.png]MABC



.  [The use of the set of axes below is optional.]

[image: image87.png]




15
Determine and state the area of triangle PQR, whose vertices have coordinates [image: image88.png]


, [image: image89.png]


, and [image: image90.png]


.  [The use of the set of axes below is optional.]

[image: image91.png]




16
Triangle ABC has coordinates [image: image92.png]A(-6,2)



, [image: image93.png]B(-3,6)



, and [image: image94.png]


.  Find the perimeter of the triangle.  Express your answer in simplest radical form.  [The use of the grid below is optional.]

[image: image95.png]




17
On the accompanying set of axes, graph and label the following lines:

[image: image96.png]



Calculate the area, in square units, of the triangle formed by the three points of intersection.



[image: image97.png]




1
ANS:
3
REF:
061702geo

2
ANS:
2

[image: image98.png]Txa- 1 (0 @+ @) -2




REF:
012407geo

3
ANS:
3

[image: image99.png]


[image: image100.png]a5 =345
180 = 645



  [image: image101.png]zﬁ][ﬁﬁ]:%(m)(s):u




REF:
061622geo

4
ANS:
1

[image: image102.png]


 [image: image103.png](12 11)7[%(12 4)+%(7 9)+%(11 z)]:ﬁn




REF:
061815geo

5
ANS:
4

[image: image104.png]7T

>x




  [image: image105.png]8242 xafa2 417 = J68 x 17 = 21T x AT

17=34




REF:
082214geo

6
ANS:
2

Create two congruent triangles by drawing [image: image106.png]BD



, which has a length of 8.  Each triangle has an area of [image: image107.png]% @) - 12



.
REF:
012018geo

7
ANS:
3

[image: image108.png]


  [image: image109.png]



REF:
081615geo

8
ANS:
2

[image: image110.png](C2- 47+ (-3- (1)) = /40 = A /10 = 2./T0




REF:
011313ge

9
ANS:
3

[image: image111.png]4 (-1-=3)7 + (5- 1) =420




REF:
081703geo

10
ANS:
4

[image: image112.png]4 (-1-2% + (2- 3 =410




REF:
081808geo

11
ANS:
2

[image: image113.png]JE1-2 4 @-3? = 10




REF:
011615geo

12
ANS:


[image: image114.png]SO 1 8-0)F = 6+ 64 = 30 =445




REF:
061331ge

13
ANS:


[image: image115.png]S

1111




   [image: image116.png]1 1 1
6x12-5 (12x3)~ 5 (5x6)~ 3 (6x 9 = 27




REF:
012331geo

14
ANS:


[image: image117.png]


  [image: image118.png]%(5)(12) -~




REF:
081928geo

15
ANS:


[image: image119.png]=




  [image: image120.png]%(5)(1[0 _25




REF:
061926geo

16
ANS:


[image: image121.png]1545405



.  [image: image122.png]



REF:
060936ge

17
ANS:


[image: image123.png]


.  10.  [image: image124.png]x4%5=10




REF:
010335a
